“LILA™S| I S EE






0 2|Lt2to| PAls

nl—f;]-i 740]]3#

X AFRLA| HOF Bt

e






az2|3

A=A [L] /8 dt=
HojE2l3] ghict



Qe



SO E S

@ 37HSW H A= Be] 22 23 A

&
Jx
oo
1%
R
-+
r{ru
u|r
1y
OH

N
7
=
a
4o

O
=




E_:E ["[jl l:l-)k-lE 180%




2’8H /ls

—_

® 3PY AFE) YHo2 T2 0% AHX) Y AP )5
i

@ 37HSW 2FEI 738 ojnjx] o a5 x| T2 19
g5

® S ZFEL] 21 W2 Y 5% 7] AL
@ s BAE2] T2 A2 Ao 715 T

®) root, student A|A B|UHSG H7 7|5 7l




il

L%
O

® 8 HAwE F= G 7|

=
o

o] 1] £xo] 45 7]

=
=2

W 48 3ol 2l



=3 UiH] ¥8& 200%







n4.Ots BX KL K|E

| & 20 C =2 I2%5}7] @D (codeblocks)
[520|M C =2 2R)517] @ (anjuta)
I712] T3 - = (GIMP)

Fo]#2iZ (Python RURPLE)

ASW ZFEN Te] 22 23 o3







7|&® M1

D 2]E=A 7[Ho]|n g2 OSEE| Application7}&]| 2F415t
_IL7H SW i]—7=1£ EHM— oz v]—

@ 2|EA 7]8F Arel] B2 SWE Ho

1

clopgt Ao} 71502 49 WelollE &8
® MS Y=g 2| ATEQO{HCE £ 2O|

¥ SO|2ts £ MALSO| IS




BHIX /g
@ ZAFEN F24] 27] 05 3 P2ISW2 o
159F ¢ A E0] H] g uby
@ oiid 4§ SW 2lojd 1.0 2 Qlsto]

1T & 105 o A =0] B]8 H2Y



SMA S



M| BRf =

HRUE &

H

LIct

Off
L



HARE] E52 S7HSWE| E/82E AT Aol

27HSW7t ZRRtEate] Hojetd o|Ofsic

. AJo|E ¥}Ea} 4, TheRE AHC}

SR U2 HIE AFEAL




S7HSW & gof| A

)

alo

18558

—/ =

oI

€]

712 Sta7H] X

240098






2 x2AEo) RLE] 25

ojn] gl 7o







L 719 5

Aal Al
58 7| I

ot

Q S7HSW HiElde| 28

MES =714 2] 7|50l



w|r

Ho Ho Mo

K XK
B O 0o o
=8 | .
X K K
T T TN
E r
. N A
0 "l
. _ln__ln__.__ N _.__o_ln_,.r
.mO ol o~ 1__m_| _l..n_ E_O ol _|.,|_ e ol
2] U Ko Ko @8 I Hlo B L e
..r_-_l.._,.r:___o._ A.._,_u_l.._.A..__n_l_l.._
ol ~— T .H_._LI,.roH._ 1r.._
B fo == A [ o X
o H KO R T RO re
2l R
O] -
& o B - B
s M ™ of of < op 4 it
g — — — — ~ Hlﬁo.nr_ﬂio
fo o ®o o o

.H.._4|234567009

B-



S 7HSWol| ThgF |
. 9] ﬂl_g_}do
}\]_E];ﬂ:]\:”_na:l SOZF I,
e F714o] 1
1 Bats BN

A D

|:







XI27HX|Q| AlDte
qu C E]ﬂ]&]_]]:}



o]7lo] H}2 B T 2M E o

%5 2o

SHSW 2829

INESTRE






























e NWEES ISR E-R

A4 Sold Zojz} gZLICt

ZEAFEEU LY.



